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01 JIEFRHZ0IE 24,500 24,500 0
O 4EER 2 SOEA0 02 S=H(SHE
) 24,500
SRS 700,008 * 20045 14,000
» WS=(DIASZ) 700,008 * 15HE 10,500
JYZSN L FAOS)) 132,510 107,440 25,070
AYUFA QL FABS)| 125,030 94,240 30,790
101 2121t 2,550 0 2,550
04 JIAMZ2RELS 2,550 0 2,550
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fAM: XAXZEL
M oK Y (BELT SN/ XA EA])
CHol ASBHEA L FAS) (cHol a2
SN HB SR (BIH) - A - B S 0l &b S D=2
= B FAG - BES &5 Ofl & 04 ree
O ATRLHEIYS 2Z27 =Y
34,0008 * 191 * 75 2,550
201 Let2d| 21,340 16,720 4,620
01 AtE22(H] 16,040 16,720 A 680
O HEF H2H0I2 S7 HEM HE(ARE
°|3l) 20,000& * 502 * 23l 2,000
O HER ALHOIS 57 HL(UMZHL W
Z)PPTHI & 3,000,000& 14 3,000
O 20108 & GEAAY AN (SR HE)W
Z0l HZ PPTHIZ 3,000,000& = 14 3,000
O CHgtel= MYy B0ig Bohol(Bore =
Z)[HE PPTHIZ 3,000,000& * 14l 3,000
O SEUABS A 2
70,000& * 362! 23l 5,040
03 A2 ZHI 5,300 0 5,300
O HM73l hetel= X1 XX 3 S CHA S AL 5,300
* 282 28 X 120,000 * 58 * 44 2,400
* B2AZ MZE 2,0008 * 1E * 1,000% 2,000
» 2g2E 7Y
15,0008 * 55 » 38tA x 42 900
202 O4dl 8,540 8,520 20
01 =Wl 8,540 8,520 20
O UEeIR Nomauzs B4 (DY, D20
3l) 50,000& * 2021 « 5 500
O M7z stel=2 NLUXNIIUE 4ol o
g g8 50,000& * 3¢! = 2& * 43| 1,200
O M7zl Hetgl= NEHXNBSUHE 288
2 2Z ¥ ol 50,000& * 321 * 6 900
O 010K SA 22BN (R F3) =
& 50,000& * 321 » 2& = 33/ 900
O XNY9Ex NE =40l GE €83 &4 1,800
* SARXH 50,0003 * 321 » 3 * 23] 900
* & 50,0003 * 321 » 3 * 23] 900
O oixs A - HloILEFR XNE =X GE
=U3E3 Mz
20,000& * 321 * 2 + 123 H&H 1,440
O oiExs A - ol XNE FAH HE =2
50| 900
* SARXH 50,000& * 32! » 3 * 23| 900
O BE+olAY 223 ¥ 23 A
50,000& * 221 » 32 » 33 900
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SN XBY
ZE: Horx| WL (ZELX
Sl BYH 2

_ _ SIEN
SN EB -GS - MBAY - BES 0] &F o e HlE2
206 M=l 9,000 7,200 1,800
01 M=l 9,000 7,200 1,800
O M7= tetel= XU UHE Al S2MS
o 2,000
* HEAFHME 20,0008 * 585 » 50 » 2& 1,000
* M= 50,0003 * 10kg » 2& 1,000
O H73 Ustel=2 NLXXHE BSSHE 0
=3 7Y 1,100

» MEIEY 10,0002 * 54 500
* ®= 60,0002 * 10kg 600
O M7 O82I= NYRXUE JISHHE &
A THE P2 50,0008 * 10HES * 105 5,000
O M225 ZYHHSL LEUE ELSE 7
o 30,0002 * 3074 900
401 AIEHILL ] 83,600 40,000 43,600
04 B AFEHRIAIA| 83,600 40,000 43,600
O H73l OH8ol= NYNXBSUHE &t 56,800
» RANZE(SHE BOH)
1,900,000 * 474 7,600
* HANEBR(FTEERH)
2,800,0002 * 67} 16,800
» FARE L CIAZOIL (SAEE)
600,000 * 434 2,400
* BANE U CASYOIH(FEE22AHE
) 30,000,008 * 14! 30,000
O Hetel= XHsal si0re &t 26,800
» BANEE 1,200,002 * 44 4,800
» HXH L CAZd 0l
5,500,002 * 47 22,000
o2 ® 016012 7,480 13,200 A5,720
201 Y2 Y| 2,800 5,400 A2,600
01 AFR eIt 2,800 0 2,800
O XNHLHOIIEI0N WA U2 LS UX
900,0002! * 2L 1,800

O XL HOILHOI M=ol THE =
,0

g 500,000& = 2¢! 1,000
202 Oddl 600 0 600
01 =LHOYI 600 0 600
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